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3amaua S29.1.

F=5xH, P=2kH, M = 10kHwm, cosa = 0.8.
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F =50kH, P =11kH, M = 33kHwMm, cosa = 0.8.
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F =15kH, P =3kH, M = 4xHwm, cosa = 0.8.
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F =25kH, P =1kH, M = 8xHwm, cosa = 0.8.

3amaua S29.5.

F =40kH, P = 5kH, M = 8kHwm, cosa = 0.8.

3amaua S29.6. I

F =40kH, P = 1kH, M = 4xHwm, cosa = 0.8.

3amaua S29.7.

F =35kH, P =24xH, M = 21 kHwMm, cosa = 0.8.
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F =30kH, P =4xH, M = 3xHwm, cosa = 0.8.




3amaua S29.9.

F =15kH, P =3kH, M = 5xHwm, cosa = 0.8.

3amaua S29.10.

F =30kH, P =1kH, M = 4xHwm, cosa = 0.8.

3amaua S29.11.

F=35kH, P =6kH, M = 30kHMm, cosae = 0.8.
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F =10kH, P =1kH, M = 3xHwm, cosa = 0.8.
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F =30kH, P =6kH, M = 7xHwm, cosa = 0.8.
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F =15kH, P =1kH, M = 3xHwm, cosa = 0.8.
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F=40kH, P = 4xH, M = 16 kHwm, cosa = 0.8.
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F=5xH, P=3kH, M = 7xHwm, cosa = 0.8.
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F =15xH, P =3kH, M = 7xHwm, cosa = 0.8.
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F =50kH, P=2xH, M = 23kHwMm, cosa = 0.8.
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3agaua S29.19.
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F =20kH, P =18kH, M = 7xHwm, cosa = 0.8.
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F =20kH, P =1kH, M = 2xHwm, cosa = 0.8.
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F =40kH, P = 2xkH, M = 8kHwm, cosa = 0.8.
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F =35kH, P =1kH, M = 3xHwm, cosa = 0.8.
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F =50kH, P =1kH, M = 4xHwm, cosa = 0.8.
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3agaua S29.24.
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F =35kH, P =2kH, M = 10kHw™m, cosa = 0.8.
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F =50kH, P =1kH, M = 3xHwm, cosa = 0.8.

3amaua S29.26.

F=70kH, P =2kH, M = 5xHwm, cosa = 0.8.
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A
M
4

Pl %EB 2

4 8

F=15xH, P =5kH, M = 7xHwm, cosa = 0.8.

3amaua S29.28.
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F =70kH, P=3kH, M = 12xHwMm, cosa = 0.8.
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F =50kH, P =1kH, M = 4xHwm, cosa = 0.8.
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F =35kH, P =5kH, M = 4xHwm, cosa = 0.8.

3agaua S29.31.
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F=70kH, P =3kH, M = 12xHwm, cosa = 0.8.

3amaua S29.32.
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F =30kH, P =4xH, M = 5xHwm, cosa = 0.8.

3agaua S29.33. I

lr e
C

|
B

3

NN

hS

3, 9

F=30kH, P =1kH, M = 12xHwm, cosa = 0.8.

3amaua S29.34.

F =50kH, P =11kH, M = 33kHwMm, cosa = 0.8.
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No XA YA MA XB YB MB YC
1 17| — — 21 — — )
2 —40 | 35 — — —54 | — —
3 — 12 — 12 — —67 | —
4 120 — — — — 209 16
5 |32 — — — 29 —198 | —
6 | 32 25 — — — 431 —
7 |28 — — — 45 135 —
8 24 22 —343 | — — — —
9 — 12 — 12 — 145 —
10 | 24 -9 | - — 28 — —
11 | 28 — — — ) — 22
12 | 8 7 96 — — — —
13 | 24 — — 24 131 —
14 | 12 -3 | - — 13 — —
15 | 21 —-20 | — =53 | — — —
16 | — 0 — -4 | - -23 | —
17 | — 12 — 12 — —151 | —
18 | 40 — — — — —87 | 32
19 | —16 | — — — 6 —41 —
20 | 16 13 153 — — — —
21 | =21 | 26 — 53 — - -
22 | 28 — — — 45 — —23
23 | 40 — — 0 — — 31
24 | 28 — — 41 — —18
25 | 40 21 — — 10 — —
26 | 56 — — — 44 —299 | —
27 | — 14 — 12 — 97 —
28 | 56 45 — — — 742 —
29 | =40 | =23 | — — -6 | — —
30 | 28 — — — 26 78 —
31 | 56 45 — — — —206 | —
32 | 24 22 65 — — — —
33 | 24 — — — — 3 19
34| -8 | — — 48 — — 41
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